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55 AR #B3E T IR fin7& AR (m) BUEL
1 1A6H Pl E S/ 5.18 BAMRIT
2 1A78 =EFE SN2 4.30 BRAMRIT
3 1RA10H RIGE =2 5.00 BARIT
4 1R10H alE =2 3.37 BARIT
5 1R12H =R =2 5.60 BARIT
6 1168 LR 27 H BAhT#IFI-
7 1A 16 H fBHE S/ 5.10 BAMRIT
8 1R 18 H LR =2 4.50 BARIT
9 1RA19H =2F8 =2 5.00 BARIT
10 1A19H AEINE =2 4.30 BRAM[IT
11 1A208 ELE =2 3.90 BRARIT
12 1A 218 IR =2 5.49 BRARIT
13 1A 21H = 8 =2 6.00 BAMIT
14 1A 21H RIGE =2 7.00 BRAM[IT
15 1A 228 ELE =2 5.20 BRARIT
16 1R 248 AR =2 3.80 BRARIT
17 1R 248 AR =2 5.00 BRARIT
18 1R 278 =2FE =2 4.40 BRAM[IT
19 28 2H GIeg =2 3.00 BARIT
20 283 3H RIGE =2 3.00 BARIT
21 2310 H fRAR =2 4.40 BRARIT
22 2 15 H ELE =92 7.00 BRARIT
23 27318 H = =2 5.50 BAR T
24 3A7H ITm]l=} =2 4.30 BARIT
25 3R 118 Ko 8 HhD 10.00 BARIT
26 3H 14 H RIGE =92 4.60 BRARIT
27 3A21H RIGE =2 4.60 BARIT
28 3A25H 2F8R =2 5.40 BARIT
29 48 10H ag =2 5.00 BARIT
30 4813H PNl =27 7.00 BARIT
31 4814 H =2F8R =27 6.00 BARIT
32 4818 H dbimE =2 7.20 BARIT
33 482 H RIGE =2 5.30 BAR T




34 48228 =2 4.20 BARIT
35 4 H23H SN2 4.60 BRAMRIT
36 5H6H SN2 4.80 BAMRIT
37 5H86H =2 4.90 BARIT
38 5811 H =2 4.40 BARIT
39 5811 H =27 4.90 BAMRIT
40 58 27H SN2 4.50 BAMRIT
41 6 H2H =27 5.10 BAMRIT
42 6 A6H =2 4.75 BARIT
43 6 816 H =2 5.00 BARIT
44 6 17 H SN2 457 BRARIT
45 6 A 23H =2 4.50 BRARIT
46 6 A 24 H SN2 4.90 BRARIT
47 7A11H N2 4.80 BAMRIT
48 7H20H N2 4.90 BRAMIT
49 78218 =2 6.00 BRARIT
50 7826 H =2 4.50 BRARIT
51 8 H8H N2 5.30 BAMIT
52 989H N2 5.00 BRAM[IT
53 11 A3H =2 6.00 BAR T
54 11 A21H =92 5.30 BRARIT
55 12818 =2 5.80 BRARIT
56 12A5H =2 6.00 BARIT
57 12 A19H SN2 4.90 BARIT
58 12 A 26 H SN2 5.50 BARIT
59 12 A 26 H =2 4.80 BARIT
60 12 A 27 H =2 5.00 BARIT
61 12 A 27 H SN2 5.60 BARIT
62 12 A 29 H SN2 4.90 BARIT
63 12 A 30 H =2 5.30 BARIT




